



# Symbolic computation and abundant travelling wave solutions to KdV–mKdV equation

SYED TAHIR RAZA RIZVI<sup>1</sup>, KASHIF ALI<sup>1</sup>, ALI SARDAR<sup>2</sup>,  
MUHAMMAD YOUNIS<sup>3,\*</sup> and AHMET BEKIR<sup>4</sup>

<sup>1</sup>Department of Mathematics, COMSATS Institute of Information Technology, Lahore, Pakistan

<sup>2</sup>Department of Mathematics, National University of Computer and Emerging Sciences, Lahore, Pakistan

<sup>3</sup>Centre for Undergraduate Studies, University of Punjab, Lahore 54590, Pakistan

<sup>4</sup>Mathematics-Computer Department, Art-Science Faculty, Eskisehir Osmangazi University, 26480, Eskisehir-Turkey

\*Corresponding author. E-mail: younis.pu@gmail.com

MS received 5 July 2015; revised 21 April 2016; accepted 6 May 2016; published online 9 December 2016

**Abstract.** In this article, the novel  $(G'/G)$ -expansion method is successfully applied to construct the abundant travelling wave solutions to the KdV–mKdV equation with the aid of symbolic computation. This equation is one of the most popular equation in soliton physics and appear in many practical scenarios like thermal pulse, wave propagation of bound particle, etc. The method is reliable and useful, and gives more general exact travelling wave solutions than the existing methods. The solutions obtained are in the form of hyperbolic, trigonometric and rational functions including solitary, singular and periodic solutions which have many potential applications in physical science and engineering. Many of these solutions are new and some have already been constructed. Additionally, the constraint conditions, for the existence of the solutions are also listed.

**Keywords.** Novel  $(G'/G)$ -expansion method; KdV–mKdV equation; travelling wave solutions.

**PACS Nos** 02.30.Jr; 05.45.Yv

## 1. Introduction

Investigating the new and more exact travelling wave solutions to nonlinear evolution equations (NLEEs) has been the area under discussion in different branches of engineering, physics and mathematics. So, during the last several decades, many powerful and efficient methods have been developed by diverse groups of scientists to find exact travelling wave solutions of NLEE, i.e. the inverse scattering method [1,2], the Hirota's bilinear method [3], the Backlund transformation [4], the symmetry method [5], the sine–cosine function method [6], the tanh–coth function method [7], the exp-function method [8,9] and so on (see also [10–39]).

The aim of this paper is to construct new travelling wave solutions to KdV–mKdV equation with the aid of symbolic computation. The integration scheme, which is successfully used, is the novel  $(G'/G)$ -expansion

method to stress its power in holding and obtaining the more general exact travelling wave solutions of KdV–mKdV equation. This equation is one of the fundamental equations of soliton physics and appears in many practical scenarios like thermal pulse, wave propagation of bound particle etc. The solutions obtained are in the form of hyperbolic, trigonometric, rational functions including solitary, singular and periodic solutions. Many of these solutions are new and some have already been constructed, because methods presented in [13,15,16,24] are only special cases of the applied novel  $(G'/G)$ -expansion method (for more details, see Remark 1).

The rest of the paper is organized as follows. In §2, we describe the novel  $(G'/G)$ -expansion method for finding travelling wave solutions of NLEEs. In §3, we illustrate the method in detail with the celebrated KdV–mKdV equation. In §4, some conclusions are given.

## 2. Description of the method

Suppose that we have a nonlinear partial differential equation in the following form:

$$P(u, u_x, u_t, u_{xx}, u_{xt}, u_{tt}, \dots) = 0, \tag{1}$$

where  $P$  is a polynomial in  $u(x, t)$  and its partial derivatives wherein the highest-order partial derivatives and the nonlinear terms are involved. The main steps of the method are as follows:

*Step 1.* Combining the real variables  $x$  and  $t$  by a compound variable  $\xi$ , we suppose that

$$u(x, t) = u(\xi), \quad \xi = x \pm Vt, \tag{2}$$

where  $V$  is the speed of the travelling wave. Equation (2) transforms eq. (1) into an ODE for  $u = u(\xi)$ :

$$Q(u, u'', u''', \dots) = 0, \tag{3}$$

where  $Q$  is a function  $u(\xi)$  and its derivatives wherein prime stands for derivative with respect to  $\xi$ .

*Step 2.* Assume that the solution of eq. (3) can be expressed in powers  $\psi(\xi)$ :

$$u(\xi) = \sum_{j=-N}^N \alpha_j (\psi(\xi))^j, \tag{4}$$

where

$$\psi(\xi) = (d + \phi(\xi))$$

and

$$\phi(\xi) = \frac{G'(\xi)}{G(\xi)}. \tag{5}$$

Here  $\alpha_{-N}$  or  $\alpha_N$  may be zero, but both of them could not be zero simultaneously.  $\alpha_j$  ( $j = 0, \pm 1, \pm 2, \dots, \pm N$ ) and  $d$  are constants to be determined later and  $G = G(\xi)$  satisfies the second-order nonlinear ODE

$$GG'' = \lambda GG' + \mu G^2 + \nu (G')^2, \tag{6}$$

where prime denotes the derivative with respect to  $\xi$ ;  $\lambda$ ;  $\mu$ ; and  $\nu$  are real parameters. The Cole–Hopf transformation  $\phi(\xi) = \ln(G(\xi))_\xi = (G'(\xi)/G(\xi))$  reduces eq. (6) into the Riccati equation:

$$\phi'(\xi) = \mu + \lambda\phi(\xi) + (\nu - 1)\phi^2(\xi). \tag{7}$$

Equation (7) has twenty five solutions.

*Step 3.* The value of the positive integer  $N$  can be determined by balancing the highest-order linear terms with the nonlinear terms of the highest order come out in

eq. (3). If the degree of  $u(\xi)$  is  $D[u(\xi)] = n$ , then the degree of the other expressions will be as follows:

$$D \left[ \frac{d^p u(\xi)}{d\xi^p} \right] = n + p,$$

$$D \left[ u^p \left( \frac{d^q u(\xi)}{d(\xi)^q} \right)^s \right] = np + s(n + q).$$

*Step 4.* Substitute eqs (4) (6) into eq. (3). We obtain polynomials in  $(d + (G'(\xi)/G(\xi)))^j$  and  $(d + (G'(\xi)/G(\xi)))^{-j}$  ( $j = 0, 1, 2, \dots, N$ ). Collecting each coefficient of the resulted polynomials to zero yields an overdetermined set of algebraic equations for  $\alpha_j$ ,  $j = 0, \pm 1, \pm 2, \dots, \pm N$ ,  $d$  and  $\nu$ .

*Step 5.* Suppose the values of the constants are obtained by solving the algebraic equations obtained in Step 4. Substituting the values of the constants together with the solutions of eq. (6), we shall obtain new and comprehensive exact travelling wave solutions of the nonlinear evolution eq. (1).

*Remark 1.* It is noteworthy to observe that if we replace  $\lambda$  by  $-\lambda$  and  $\mu$  by  $-\mu$  and put  $\nu = 0$  in eq. (7), then the applied novel  $(G'/G)$ -expansion method coincides with the generalized and improved  $(G'/G)$ -expansion method. On the other hand, if we put  $d = 0$  in eq. (6) and  $\nu = 0$  in eq. (7) then the proposed method is identical to the improved  $(G'/G)$ -expansion method. Again, if we set  $d = 0$ ,  $\nu = 0$  in eq. (7) and  $\alpha_j$  ( $j = 1, 2, 3, \dots, N$ ) are functions of  $x$  and  $t$  instead of constants then the proposed method is transformed into the generalized  $(G'/G)$ -expansion method developed by Zhang. Thus, the methods presented in [13,15,16,24] are only special cases of the applied novel  $(G'/G)$ -expansion method.

## 3. Mathematical analysis

In this section, we shall bring to bear the  $(G'/G)$ -expansion method to construct new and more general travelling wave solutions of KdV–mKdV equation. The KdV–mKdV equation is one of the most popular equation in soliton physics and appear in many practical scenarios like thermal pulse, wave propagation of bound particle and reads as

$$u_t + (\alpha + \beta u)uu_x + u_{xxx} = 0, \tag{8}$$

where  $\alpha$  and  $\beta$  are constants. Using the travelling wave transformation  $\xi = x - Vt$ , eq. (8) is converted into the following ODE:

$$(\alpha u + \beta u^2 - V)u' + u''' = 0. \tag{9}$$

Integrating eq. (9), we obtain

$$K - Vu + \alpha \frac{u^2}{2} + \beta \frac{u^3}{3} + u'' = 0, \tag{10}$$

where  $K$  is an integration constant. Considering the homogeneous balance between the highest-order derivative  $u''$  and nonlinear term of the highest order  $u^3$  in eq. (10), we obtain for  $N = 1$

$$u(\xi) = \alpha_{-1}(\psi(\xi))^{-1} + \alpha_0 + \alpha_1(\psi(\xi)). \tag{11}$$

Inserting eq. (11) into eq. (10), the left-hand side is transformed into polynomials in  $(d + (G'(\xi)/G(\xi)))$  and  $(d + (G'(\xi)/G(\xi)))^{-1}$ . Equating the coefficients of like power of these polynomials to zero, we obtain a set of algebraic equations (because of space constraints, we leave out the display of these equations) for  $\alpha_0, \alpha_{-1}, \alpha_1, d, K$  and  $V$ . Solving the overdetermined set of algebraic equations by using the symbolic computation software, such as, *Maple*, we obtain

Set 1

$$K = 0, \quad \alpha_1 = \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta}, \quad \alpha_0 = \alpha_0, \\ \alpha_{-1} = 0, \quad d = d, \tag{12}$$

where  $d, K, \beta$  and  $v$  are all arbitrary constants.

Set 2

$$K = 0, \quad \alpha_0 = 0, \quad V = V, \quad \alpha_1 = \sqrt{\frac{-6(v-1)^2}{\beta}} \\ \alpha_{-1} = \frac{\sqrt{(-6/\beta)(\lambda^2 - v + 2\mu - 4\lambda d(v-1) - 6d^2(v-1)^2)}}{-2(v-1)}, \tag{13}$$

where  $d, \lambda, \beta, \alpha$ , and  $v$  are arbitrary constants. Substituting eqs (12) and (13) into solution eq. (11), we obtain

$$u_1(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left( d + \left( \frac{G'}{G} \right) \right) \tag{14}$$

$$u_2(x, t) = \pm \sqrt{\frac{-6(v-1)^2}{\beta}} \left( d + \left( \frac{G'}{G} \right) \right) \\ \pm \frac{\sqrt{(-6/\beta)(\lambda^2 - v + 2\mu - 4\lambda d(v-1) - 6d^2(v-1)^2)}}{-2(v-1)} \\ \times \left( d + \left( \frac{G'}{G} \right) \right)^{-1}, \tag{15}$$

where  $V, d, \lambda, \mu, \alpha$ , and  $v$  are arbitrary constants.

Substituting the solutions  $G(\xi)$  of eq. (6) into eq. (14) and simplifying, we achieve the following solutions:

When  $\rho = \lambda^2 - 4\mu v + 4\mu > 0$  and  $\lambda(v-1) \neq 0$  or  $\mu(v-1) \neq 0$ ,

$$u_{11}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d - \frac{1}{2(v-1)} \left( \lambda + \sqrt{\rho} \tanh \left( \frac{1}{2} \sqrt{\rho} \xi \right) \right) \right\}, \tag{16}$$

$$u_{12}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d - \frac{1}{2(v-1)} \left( \lambda + \sqrt{\rho} \coth \left( \frac{1}{2} \sqrt{\rho} \xi \right) \right) \right\}, \tag{17}$$

$$u_{13}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d - \frac{1}{2(v-1)} \{ \lambda + \sqrt{\rho} (\tanh(\sqrt{\rho}\xi) \pm i \operatorname{sech}(\sqrt{\rho}\xi)) \} \right], \tag{18}$$

$$u_{14}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d - \frac{1}{2(v-1)} \{ \lambda + \sqrt{\rho} (\coth(\sqrt{\rho}\xi) \pm \operatorname{csch}(\sqrt{\rho}\xi)) \} \right], \tag{19}$$

$$u_{15}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d - \frac{1}{4(v-1)} \left\{ 2\lambda + \sqrt{\rho} \left( \tanh \left( \frac{1}{4} \sqrt{\rho} \xi \right) + \coth \left( \frac{1}{4} \sqrt{\rho} \xi \right) \right) \right\} \right], \tag{20}$$

$$u_{16}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d + \frac{1}{2(v-1)} \right. \\ \left. \times \left\{ -\lambda + \frac{\pm \sqrt{\rho(A^2 + B^2)} - A \sqrt{\rho} \cosh(\sqrt{\rho}\xi)}{A \sinh(\sqrt{\rho}\xi) + B} \right\} \right], \tag{21}$$

$$u_{17}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d + \frac{1}{2(\nu - 1)} \right. \\ \left. \times \left\{ -\lambda + \frac{\pm\sqrt{\rho(A^2 + B^2)} + A\sqrt{\rho} \cosh(\sqrt{\rho}\xi)}{A \sinh(\sqrt{\rho}\xi) + B} \right\} \right], \quad (22)$$

where both  $A$  and  $B$  are real constants;

$$u_{18}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d + \frac{2\mu \cosh(\frac{1}{2}\sqrt{\rho}\xi)}{\sqrt{\rho} \sinh(\frac{1}{2}\sqrt{\rho}\xi) - \lambda \cosh(\frac{1}{2}\sqrt{\rho}\xi)} \right\}, \quad (23)$$

$$u_{19}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d + \frac{2\mu \sinh(\frac{1}{2}\sqrt{\rho}\xi)}{\sqrt{\rho} \cosh(\frac{1}{2}\sqrt{\rho}\xi) - \lambda \sinh(\frac{1}{2}\sqrt{\rho}\xi)} \right\}, \quad (24)$$

$$u_{110}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d + \frac{2\mu \cosh(\sqrt{\rho}\xi)}{\sqrt{\rho} \sinh(\sqrt{\rho}\xi) - \lambda \cosh(\sqrt{\rho}\xi) \pm i\sqrt{\rho}} \right\}, \quad (25)$$

$$u_{111}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d + \frac{2\mu \sinh(\sqrt{\rho}\xi)}{\sqrt{\rho} \cosh(\sqrt{\rho}\xi) - \lambda \sinh(\sqrt{\rho}\xi) \pm \sqrt{\rho}} \right\}. \quad (26)$$

When  $\rho = \lambda^2 - 4\mu\nu + 4\mu < 0$  and  $\lambda(\nu - 1) \neq 0$  or  $\mu(\nu - 1) \neq 0$ ,

$$u_{112}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d + \frac{1}{2(\nu - 1)} \left( -\lambda + \sqrt{-\rho} \tan\left(\frac{1}{2}\sqrt{-\rho}\xi\right) \right) \right\}, \quad (27)$$

$$u_{113}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d - \frac{1}{2(\nu - 1)} \left( \lambda + \sqrt{-\rho} \cot\left(\frac{1}{2}\sqrt{-\rho}\xi\right) \right) \right\}, \quad (28)$$

$$u_{114}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d + \frac{1}{2(\nu - 1)} \right. \\ \left. \times \{-\lambda + \sqrt{-\rho}(\tan(\sqrt{-\rho}\xi) \pm \sec(\sqrt{-\rho}\xi))\} \right], \quad (29)$$

$$u_{115}(x, t) = v \left[ d - \frac{1}{2(\nu - 1)} \right. \\ \left. \times \{\lambda + \sqrt{-\rho}(\cot(\sqrt{-\rho}\xi) \pm \csc(\sqrt{-\rho}\xi))\} \right], \quad (30)$$

$$u_{116}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d + \frac{1}{4(\nu - 1)} \left\{ -2\lambda + \sqrt{-\rho} \left( \tan\left(\frac{1}{4}\sqrt{-\rho}\xi\right) \right. \right. \right. \\ \left. \left. \left. - \cot\left(\frac{1}{4}\sqrt{-\rho}\xi\right) \right) \right\} \right], \quad (31)$$

$$u_{117}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d + \frac{1}{2(\nu - 1)} \left\{ -\lambda \right. \right. \\ \left. \left. + \frac{\pm\sqrt{-\rho(A^2 - B^2)} - A\sqrt{-\rho} \cos(\sqrt{-\rho}\xi)}{A \sin(\sqrt{-\rho}\xi) + B} \right\} \right], \quad (32)$$

$$u_{118}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left[ d + \frac{1}{2(\nu - 1)} \left\{ -\lambda \right. \right. \\ \left. \left. + \frac{\pm\sqrt{-\rho(A^2 - B^2)} + A\sqrt{-\rho} \cos(\sqrt{-\rho}\xi)}{A \sin(\sqrt{-\rho}\xi) + B} \right\} \right], \quad (33)$$

where both  $A$  and  $B$  are arbitrary constants such that  $A^2 - B^2 > 0$

$$u_{119}(x, t) = \alpha_0 \pm \frac{-4\lambda(\nu - 1) + 12d(\nu - 1)^2}{\alpha + 2\alpha_0\beta} \\ \times \left\{ d - \frac{2\mu \cos(\sqrt{-\rho}\xi)}{\sqrt{-\rho} \sin(\sqrt{-\rho}\xi) + \lambda \cos(\sqrt{-\rho}\xi)} \right\}, \quad (34)$$

$$u_{120}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \times \left\{ d + \frac{2\mu \sin(\sqrt{-\rho}\frac{\xi}{2})}{\sqrt{-\rho} \cos(\sqrt{-\rho}\frac{\xi}{2}) - \lambda \sin(\sqrt{-\rho}\frac{\xi}{2})} \right\}, \quad (35)$$

$$u_{121}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \times \left\{ d - \frac{2\mu \cos(\sqrt{-\rho}\xi)}{\sqrt{-\rho} \sin(\sqrt{-\rho}\xi) + \lambda \cos(\sqrt{-\rho}\xi) \pm \sqrt{-\rho}} \right\}, \quad (36)$$

$$u_{122}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \times \left\{ d + \frac{2\mu \sin(\sqrt{-\rho}\frac{\xi}{2})}{\sqrt{-\rho} \cos(\sqrt{-\rho}\frac{\xi}{2}) - \lambda \sin(\sqrt{-\rho}\frac{\xi}{2}) \pm \sqrt{-\rho}} \right\}. \quad (37)$$

When  $\mu = 0$  and  $\lambda(v-1) \neq 0$ , we have

$$u_{123}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \times \left\{ d - \frac{\lambda k}{(v-1)\{k + \cosh(\lambda\xi) - \sinh(\lambda\xi)\}} \right\}, \quad (38)$$

$$u_{124}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \times \left\{ d - \frac{\lambda\{\cosh(\lambda\xi) + \sinh(\lambda\xi)\}}{(v-1)\{k + \cosh(\lambda\xi) + \sinh(\lambda\xi)\}} \right\}, \quad (39)$$

where  $k$  is an arbitrary constant.

When  $(v-1 \neq 0)$  and  $\lambda = \mu = 0$ , the solution of eq. (8) is

$$u_{125}(x, t) = \alpha_0 \pm \frac{-4\lambda(v-1) + 12d(v-1)^2}{\alpha + 2\alpha_0\beta} \times \left\{ d - \frac{1}{(v-1)\xi + c_1} \right\}, \quad (40)$$

where  $c_1$  is an arbitrary constant.

By substituting solutions  $G(\xi)$  of eq. (6) into eq. (15) and simplifying the resulting equation, we obtain the following solutions:

When  $\rho = \lambda^2 - 4\mu v + 4\mu > 0$  and  $\lambda(v-1) \neq 0$  (or  $\mu(v-1) \neq 0$ ),

$$u_{21}(x, t) = \sqrt{\frac{-6(v-1)^2}{\beta}} \times \left\{ d - \frac{1}{2(v-1)} \left( \lambda + \sqrt{\rho} \tanh\left(\frac{1}{2}\sqrt{\rho}\xi\right) \right) \right\}$$

$$\pm \frac{\sqrt{\frac{-6}{\beta}} (\lambda^2 - v + 2\mu - 4\lambda d(v-1) - 6d^2(v-1)^2)}{-2(v-1)} \times \left\{ \left( \lambda + \sqrt{\rho} \tanh\left(\frac{1}{2}\sqrt{\rho}\xi\right) \right) \right\}^{-1}, \quad (41)$$

where  $\xi = x - Vt$ ,  $d$ ,  $\lambda$ ,  $\mu$ , and  $v$  are arbitrary constants:

$$u_{22}(x, t) = \sqrt{\frac{-6(v-1)^2}{\beta}} \left\{ d - \frac{1}{2(v-1)} \times \left( \lambda + \sqrt{\rho} \coth\left(\frac{1}{2}\sqrt{\rho}\xi\right) \right) \right\} \pm \frac{\sqrt{\frac{-6}{\beta}} (\lambda^2 - v + 2\mu - 4\lambda d(v-1) - 6d^2(v-1)^2)}{-2(v-1)} \times \left\{ d - \frac{1}{2(v-1)} \left( \lambda + \sqrt{\rho} \coth\left(\frac{1}{2}\sqrt{\rho}\xi\right) \right) \right\}^{-1}, \quad (42)$$

$$u_{23}(x, t) = \sqrt{\frac{-6(v-1)^2}{\beta}} \left\{ d - \frac{1}{2(v-1)} \times (\lambda + \sqrt{\rho}(\tanh(\sqrt{\rho}\xi) \pm i \operatorname{sech}(\sqrt{\rho}\xi))) \right\} \pm \frac{\sqrt{\frac{-6}{\beta}} (\lambda^2 - v + 2\mu - 4\lambda d(v-1) - 6d^2(v-1)^2)}{-2(v-1)} \times \left\{ d - \frac{1}{2(v-1)} \times (\lambda + \sqrt{\rho}(\tanh(\sqrt{\rho}\xi) \pm i \operatorname{sech}(\sqrt{\rho}\xi))) \right\}^{-1}. \quad (43)$$

The other families of exact solutions of eq. (8) are omitted for convenience. When  $\rho = \lambda^2 - 4\mu v + 4\mu < 0$  and  $\lambda(v-1) \neq 0$  (or  $\mu(v-1) \neq 0$ ), we have

$$u_{212}(x, t) = \sqrt{\frac{-6(v-1)^2}{\beta}} \times \left\{ d + \frac{1}{2(v-1)} \left( -\lambda + \sqrt{-\rho} \left( \tan\left(\sqrt{-\rho}\frac{\xi}{2}\right) \right) \right) \right\} \pm \frac{\sqrt{\frac{-6}{\beta}} (\lambda^2 - v + 2\mu - 4\lambda d(v-1) - 6d^2(v-1)^2)}{-2(v-1)} \times \left\{ d + \frac{1}{2(v-1)} \left( -\lambda + \sqrt{-\rho} \left( \tan\left(\sqrt{-\rho}\frac{\xi}{2}\right) \right) \right) \right\}^{-1}, \quad (44)$$

$$u_{213}(x, t) = \sqrt{\frac{-6(v-1)^2}{\beta}} \times \left\{ d - \frac{1}{2(v-1)} \left( \lambda + \sqrt{-\rho} \left( \cot\left(\sqrt{-\rho}\frac{\xi}{2}\right) \right) \right) \right\}$$

$$\pm \frac{\sqrt{\frac{-6}{\beta}(\lambda^2 - v + 2\mu - 4\lambda d(v - 1) - 6d^2(v - 1)^2)}}{-2(v - 1)} \times \left\{ d - \frac{1}{2(v - 1)} \left( \lambda + \sqrt{-\rho} \left( \cot \left( \sqrt{-\rho} \frac{\xi}{2} \right) \right) \right) \right\}^{-1}, \tag{45}$$

$$u_{2,14}(x, t) = \sqrt{\frac{-6(v - 1)^2}{\beta}} \left\{ d - \frac{1}{2(v - 1)} \times (-\lambda + \sqrt{-\rho}(\tan(\sqrt{-\rho}) \pm \sec(\sqrt{-\rho}\xi))) \right\} \pm \frac{\sqrt{\frac{-6}{\beta}(\lambda^2 - v + 2\mu - 4\lambda d(v - 1) - 6d^2(v - 1)^2)}}{-2(v - 1)} \times \left\{ d - \frac{1}{2(v - 1)} \times (-\lambda + \sqrt{-\rho}(\tan(\sqrt{-\rho}) \pm \sec(\sqrt{-\rho}\xi))) \right\}^{-1}. \tag{46}$$

When  $(v - 1) = 0$  and  $\lambda = \mu = 0$ , the solution of eq. (18) is

$$u_{2,15}(x, t) \sqrt{\frac{-6(v - 1)^2}{\beta}} \left\{ d - \frac{1}{(v - 1)\xi + c_1} \right\} \pm \frac{\sqrt{\frac{-6}{\beta}(\lambda^2 - v + 2\mu - 4\lambda d(v - 1) - 6d^2(v - 1)^2)}}{-2(v - 1)} \times \left\{ d - \frac{1}{(v - 1)\xi + c_1} \right\}^{-1}, \tag{47}$$

where  $c_1$  is an arbitrary constant.

### 4. Conclusions

In this paper, the novel  $(G'/G)$ -expansion method has been used in order to find the abundant exact travelling wave solutions of the KdV–mKdV equation which is one of the fundamental equation of fluid mechanics. It can be observed that the method used is a powerful and more general tool for finding the exact solutions. These solutions are of the form of hyperbolic, trigonometric, and rational functions including solitary, singular, periodic, and plane solutions. It may be noted that the constraint conditions, for the existence of the solutions, are also listed.

### References

[1] A Biswas and E Zerrad, *Commun. Nonlinear Sci. Numer. Simul.* **14**, 3574 (2009)

[2] A H Khater, M M Hassan, E V Krishnan and Y Z Peng, *Eur. Phys. J. D* **50**, 177 (2008)

[3] R Hirota, *The direct method in soliton theory* (Cambridge Univ. Press, Cambridge, 2004)

[4] H P Zhu and Z H Pan, *Laser Phys.* **24**, 045406 (2014)

[5] G W Bluman and S Kumei, *Symmetries and differential equations* (Springer-Verlag, Berlin, 1989)

[6] A M Wazwaz, *Appl. Math. Comput.* **150**, 365 (2004)

[7] E G Fan, *Phys. Lett. A* **277**, 212 (2000)

[8] J H He and X H Wu, *Chaos, Solitons and Fractals* **30**, 700 (2006)

[9] M Wang, X Li and J Zhang, *Phys. Lett. A* **372**, 417 (2008)

[10] A Bekir, *Phys. Lett. A* **372**, 3400 (2008)

[11] A Bekir and A C Cevikel, *Chaos, Solitons and Fractals* **41(4)**, 1733 (2008)

[12] M Younis, H ur Rehman and M Iftikhar, *Appl. Math. Comput.* **249**, 81 (2014)

[13] M Wang, J Zhang and X Li, *Appl. Math. Comput.* **206**, 321 (2008)

[14] L Ling-Xiao and W Ming-Liang, *Appl. Math. Comput.* **208**, 440 (2009)

[15] E M E Zayed and K A Gepreel, *J. Math. Phys.* **50**, 013502 (2008)

[16] I Aslan and T Ozis, *Appl. Math. Comput.* **209**, 425 (2009)

[17] T Ozis and I Aslan, *Z. Naturforsch.* **64a**, 15 (2009)

[18] J Zhang, X Wei and Y Lu, *Phys. Lett. A* **372**, 3653 (2008)

[19] J Zhang, J L Tong and W Wang, *Phys. Lett. A* **372**, 2254 (2008)

[20] Z Y Bin and L Chao, *Commun. Theor. Phys.* **51**, 664 (2009)

[21] M Mari, *Nonlin. Anal.* **51**, 1073 (2002)

[22] E Fan, *The integrable systems and the computer algebra* (Science Press, Beijing, 2004)

[23] Z Fu, S Liu and Q Zhao, *Commun. Nonlinear Sci. Numer. Simul.* **8**, 67 (2003)

[24] Z Wang and D Li, *Chin. Phys.* **14**, 2158 (2005)

[25] M Younis and S Ali, *Waves Random Complex* **25(4)**, 549 (2015)

[26] Z.-L. Tao, *Nonlinear Anal. Real World Appl.* **10**, 1939 (2009)

[27] M A Helal and M S Mehjanna, *Appl. Math. Comput.* **190**, 599 (2007)

[28] F Khani, S H Nezhad, M T Darvishi and S W Ryu, *Nonlinear Anal. Real World Appl.* **10**, 1904 (2009)

[29] A Bekir and A C Cevikel, *Commun. Nonlinear Sci. Numer. Simul.* **14**, 1804 (2009)

[30] A Biswas, M Mirzazadeh and M Eslami, *Optik.* **125**, 4215 (2014)

[31] M Eslami, M Mirzazadeh, B F Vajargah and A Biswas, *Optik.* **125**, 3107 (2014)

[32] P D Green and A Biswas, *Commun. Nonlinear Sci. Numer. Simul.* **15**, 3865 (2010)

[33] M Savescu, A H Bhrawy, E M Hilal, A A Alshaery and A Biswas, *Frequenz.* **9–10**, 445 (2014)

[34] M Savescu, A H Bhrawy, E M Hilal, A A Alshaery and A Biswas, *Rom. J. Phys.* **59(5–6)**, 582 (2014)

[35] H Triki, S Lepule, A Love, A H Kara and A Biswas, *Optik* **125**, 2784 (2014)

[36] M Younis, S T R Rizvi and S Ali, *Appl. Math. Comput.* **265**, 994 (2015)

[37] A Sardar, S M Husnine, S T R Rizvi, M Younis and K Ali, *Nonlin. Dyn.* **82**, 1317 (2015)

[38] M Younis and S Ali, *Appl. Math. Comput.* **246**, 460 (2014)

[39] M Younis, S Ali and S A Mahmood, *Nonlin. Dyn.* **81(3)**, 1191 (2015)